Řešení 19.3.

	250cm < 520cm
	68dm > 48dm

	945cm > 425cm
	15mm < 154mm

	65m3dm > 53m6dm
	26mm < 320mm


 uč. 75/17


PS 9/8   Pavel 32m40cm=3 240cm
	Mirek 3 240cm – 540cm=2 700cm
	Jirka 2 700cm + 860cm=3 560cm
	3 240cm+2 700cm+3 560cm=9 500cm=95m
	Dohromady hodili 95 metrů.

	132 163 : 24 = 5 506 (19)
  12 1
        163
          19
	482 274 : 51 = 9 456 (18)
  23 2
     2 87
         324
            18


 PS 9/9   




PS 9/10   10 924m-8 850m=2 074m
	   Vrchol Mount Everestu by byl 2 074m pod hladinou.
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